

Restore Gloves



Restore™ Nitrile Exam Gloves

Restore hydrates and soothes the skin. Restore contains a layer of colloidal oatmeal, a USP skin protectant that temporarily helps relieve conditions associated with dry skin.

- » Awarded the National Eczema Association Seal of Approval
- » SmartGuard® film over the opening of the box helps keep gloves in the box
- » Color-coded sizing quickly identifies the right size glove every time
- » 250 gloves per box means less trips to the supply closet

Item No.	Description	Pkg
OAT6800*	Extra-Small	250/bx, 10 bx/cs
OAT6801*	Small	250/bx, 10 bx/cs
OAT6802*	Medium	250/bx, 10 bx/cs
OAT6803*	Large	250/bx, 10 bx/cs
OAT6804*	Extra-Large	230/bx, 10 bx/cs

*Add "H" to be purchased by the box.

Aloetouch Gloves

Aloetouch Ice® Nitrile Exam Gloves

- » Combines durable nitrile protection with a soothing inner coating of organic freeze-dried aloe vera
- » Fingertip textured for advanced grip

Item No.	Description	Pkg.
MDS195283*	Extra-Small	200/bx, 10 bx/cs, 2000/cs
MDS195284*	Small	200/bx, 10 bx/cs, 2000/cs
MDS195285*	Medium	200/bx, 10 bx/cs, 2000/cs
MDS195286*	Large	200/bx, 10 bx/cs, 2000/cs
MDS195287*	Extra-Large	180/bx, 10 bx/cs, 1800/cs

^{*}Add "H" to be purchased by the box.



Aloetouch Ultra IC Vinyl Exam Gloves

- » A cost-effetive alternative to nitrile gloves lined with organic freeze-dried aloe vera
- » Advanced inner coating for ease of donning

Item No.	Description	Pkg.
MDS195074*	Small	100/bx, 10 bx/cs, 1000/cs
MDS195075*	Medium	100/bx, 10 bx/cs, 1000/cs
MDS195076*	Large	100/bx, 10 bx/cs, 1000/cs
MDS195077*	Extra-Large	100/bx, 10 bx/cs, 1000/cs

^{*}Add "H" to be purchased by the box.



Aloetouch 3G Vinyl Exam Gloves

- » Third generation synthetic vinyl exam gloves that offer exceptional tactile sensitivity
- » Lined with organic freeze-dried aloe vera

Item No.	Description	Pkg.
MDS195174*	Small	100/bx, 10 bx/cs, 1000/cs
MDS195175*	Medium	100/bx, 10 bx/cs, 1000/cs
MDS195176*	Large	100/bx, 10 bx/cs, 1000/cs
MDS195177*	Extra-Large	100/bx, 10 bx/cs, 1000/cs

^{*}Add "H" to be purchased by the box.



Nitrile Exam Gloves



SensiCare Silk® Powder-Free Nitrile Exam Gloves with SmartGuard

With cobalt blue textured fingertips, SensiCare Silk offers durable nitrile protection with a slightly thicker glove. An excellent choice for housewide usage.

» SmartGuard film over the box opening and color-coded sizing around the rim helps reduce wasted product

Item No.	Description	Pkg
MDS2583*	Extra-Small	250/bx, 2500/cs
MDS2584*	Small	250/bx, 2500/cs
MDS2585*	Medium	250/bx, 2500/cs
MDS2586*	Large	250/bx, 2500/cs
MDS2587*	Extra-Large	230/bx, 2300/cs

*Add "H" to be purchased by the box.



SensiCare Ice® Powder-Free Nitrile Exam Gloves with SmartGuard™

Our best-selling exam glove! SensiCare Ice is a thinner nitrile glove that offers durable protection. Fingertip textured for advanced grip.

» SmartGuard film over the box opening and color-coded sizing around the rim helps reduce wasted product

Item No.	Description	Pkg
MDS6800	Extra-Small	250/bx, 10 bx/cs, 2500/cs
MDS6801	Small	250/bx, 10 bx/cs, 2500/cs
MDS6802	Medium	250/bx, 10 bx/cs, 2500/cs
MDS6803	Large	250/bx, 10 bx/cs, 2500/cs
MDS6804	Extra-Large	230/bx, 10 bx/cs, 2300/cs

*Add "H" to be purchased by the box.

Nitrile and Latex Exam Gloves

Curad® Nitrile Exam Gloves

- » Light blue color for excellent contrast
- » Excellent thick nitrile option
- » Not made with natural rubber latex

Item No.	Description	Pkg.
CUR8313	Extra-Small	100/bx, 1000/cs
CUR8314	Small	100/bx, 1000/cs
CUR8315	Medium	100/bx, 1000/cs
CUR8316	Large	100/bx, 1000/cs
CUR8317	Extra-Large	90/bx, 900/cs

^{*}Add "H" to be purchased by the box.



FitGuard® Touch Nitrile Exam Gloves

- » Medline's most sensitive nitrile option with textured fingertips and advanced tactile sensitivity
- » 300 gloves per box means less trips to the supply room to restock
- » Tested for use with chemotherapy drugs**

Item No.	Description	Pkg.
FG3000	Extra-Small	300/bx, 3000/cs
FG3001	Small	300/bx, 3000/cs
FG3002	Medium	300/bx, 3000/cs
FG3003	Large	300/bx, 3000/cs
FG3004	Extra-Large	250/bx, 2500/cs

^{*}Add "H" to be purchased by the box.

Curad Powder-Free Latex Exam Gloves

Curad powder-free latex exam gloves have excellent barrier properties combined with great fit and feel.

- » Perfect option for those who prefer latex
- » Fully textured for superior grip

Item No.	Description	Pkg.
CUR8103	Extra-Small	100/bx, 1000/cs
CUR8104	Small	100/bx, 1000/cs
CUR8105	Medium	100/bx, 1000/cs
CUR8106	Large	100/bx, 1000/cs
CUR8107	Extra-Large	90/bx, 900/cs

^{*}Add "H" to be purchased by the box.





^{**}Please contact Medline for a complete list of the drugs and concentrations tested and the testing method used. Not for use with Carmustine and Thiotepa.

Vinyl Exam Gloves



Curad 3G Vinyl Exam Gloves

- » These soft, comfortable vinyl exam gloves are part of Medline's exclusive third-generation vinyl materials, providing superior protection and stretch
- » Narrow cuff reduces risk of roll-down

Item No.	Description	Pkg
CUR8234	Small	100/bx, 1000/cs
CUR8235	Medium	100/bx, 1000/cs
CUR8236	Large	100/bx, 1000/cs
CUR8237	Extra-Large	90/bx, 900/cs

*Add "H" to be purchased by the box.



Curad Stretch Vinyl Exam Gloves

- » Advanced formulation stretch vinyl that conforms to the hands for excellent sensitivity when touch is critical
- » Excellent economy vinyl option

Item No.	Description	Pkg
CUR9224	Small	100/bx, 1000/cs
CUR9225	Medium	100/bx, 1000/cs
CUR9226	Large	100/bx, 1000/cs
CUR9227	Extra-Large	90/bx, 900/cs

*Add "H" to be purchased by the box.



*Add "H" to be purchased by the box.

ACCUtouch® Powder-Free Vinyl Exam Gloves

- » Perfect cost-effective alternative is ideal for general patient care
- » Perfect option for cleaning or office maintenance use

Item No.	Description	Pkg
MDS192074	Small	100/bx, 1000/cs
MDS192075	Medium	100/bx, 1000/cs
MDS192076	Large	100/bx, 1000/cs
MDS192077	Extra-Large	90/bx, 900/cs

Generation Pink Exam Gloves

A World Without Breast Cancer is in Our Hands.™ With one in eight women diagnosed with breast cancer in her lifetime, breast cancer awareness is our largest philanthropic cause.

We're proud partners with the National Breast Cancer Foundation (NBCF) and build awareness for early prevention and detection among healthcare professionals through our annual forums, Medline pink products and the Medline Pink Glove Dance® video competition. Learn more at pinkglovedance.com.

From the sale of Generation Pink gloves, Medline will donate a portion of the proceeds to NBCF. Your overwhelming response to our signature pink gloves helps make our commitment to breast cancer awareness possible. Thank you.

Generation Pink Pearl® Nitrile Exam Gloves

The glamorous sheen on these special pink gloves shows your support for breast cancer awareness and helps start a conversation on this very important issue.

- » Extra protection of nitrile
- » A layer of aloe vera helps soothe hands
- » Full texture for better grip

Item No.	Description	Pkg
PINK5083*	Extra-Small	100/bx, 10 bx/cs, 1000/cs
PINK5084*	Small	100/bx, 10 bx/cs, 1000/cs
PINK5085*	Medium	100/bx, 10 bx/cs, 1000/cs
PINK5086*	Large	100/bx, 10 bx/cs, 1000/cs
PINK5087*	Extra-Large	90/bx, 10 bx/cs, 900/cs

^{*}Add "H" to be purchased by the box.





When you need added protection for a variety of healthcare situations.

- » Excellent tactile sensitivity and barrier protection
- » Textured fingertips for better grip
- » Holds twice the amount of gloves and reduces trips to the supply closet

Item No.	Description	Pkg
PINK6800*	Extra-Small	250/bx 2500/cs
PINK6801*	Small	250/bx 2500/cs
PINK6802*	Medium	250/bx 2500/cs
PINK6803*	Large	250/bx 2500/cs
PINK6804*	Extra-Large	230/bx 2300/cs

*Add "H" to be purchased by the box.



Generation Pink 3G Vinyl Exam Gloves

Patented third-generation vinyl provides outstanding sensitivity, softness and comfort.

- » Excellent tactile sensitivity
- » Stretches for flexibility and comfort
- » Not made with natural rubber

Item No.	Description	Pkg
PINK6073*	Extra-Small	100/bx, 10 bx/cs, 1000/cs
PINK6074*	Small	100/bx, 10 bx/cs, 1000/cs
PINK6075*	Medium	100/bx, 10 bx/cs, 1000/cs
PINK6076*	Large	100/bx, 10 bx/cs, 1000/cs
PINK6077*	Extra-Large	90/bx, 10 bx/cs, 900/cs

*Add "H" to be purchased by the box

Latex and Synthetic Surgical Gloves



Medline offers a complete line of specialty surgical gloves in a variety of styles, made with or without natural rubber latex. Contact your Medline Sales Representative for more information!





DermAssure[™] **Green**

DermAssure Green is an advanced surgical glove made without powder, without natural rubber latex, and without chemical accelerators.

- » Texture: Smooth
- » Thickness: 6.7 mils
- » It has been tested for use with chemotherapy drugs**
- » ARC (Anti-roll-down cuff) was designed to reduce cuff roll-down

Item No.	Size	Pkg
MSG6555*	5.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG6560*	6.0	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG6565*	6.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG6570*	7.0	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG6575*	7.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG6580*	8.0	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG6585*	8.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG6590*	9.0	200 pr/cs, 50 pr/bx, 4 bx/cs

^{*}Add "Z" to purchase by the box.

SensiCare® PI Surgical Gloves

SensiCare PI is the newest addition to Medline's revolutionary lineup of surgical gloves.

- » Offers the fit, feel, comfort and performance of traditional latex gloves without latex proteins
- » Powder-free, not made with natural rubber latex, smooth, 9.1 mil, and cream colored

Item No.	Size	Pkg
MSG9055*	5.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG9060*	6.0	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG9065*	6.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG9070*	7.0	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG9075*	7.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG9080*	8.0	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG9085*	8.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MSG9090*	9.0	200 pr/cs, 50 pr/bx, 4 bx/cs

*Add "Z" to purchase by the box.

Triumph® LT Surgical Gloves

These gloves offer an ideal combination of tactile sensitivity, comfort and durability.

» Powder-free, latex, textured, 9.4 mil, and white colored

Item No.	Size	Pkg
MDS108055LT*	5.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MDS108060LT*	6.0	200 pr/cs, 50 pr/bx, 4 bx/cs
MDS108065LT*	6.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MDS108070LT*	7.0	200 pr/cs, 50 pr/bx, 4 bx/cs
MDS108075LT*	7.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MDS108080LT*	8.0	200 pr/cs, 50 pr/bx, 4 bx/cs
MDS108085LT*	8.5	200 pr/cs, 50 pr/bx, 4 bx/cs
MDS108090LT*	9.0	200 pr/cs, 50 pr/bx, 4 bx/cs

*Add "Z" to purchase by the box.

^{**}Please contact Medline for a complete list of the drugs and concentrations tested and the testing method used. Not for use with Carmustine and Thiotepa.